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Correct the following statements: (b b e —Y

o L s e e )

../.\.‘3./@3\&935;-/?(\')

-

s B0 -

IR of 30; N &Y il é! Ui C’J" u-‘ D)

() M.u.w A L UL e Lol -y

o P

Answer the following questions in the negative using uj

.................................... tanall dlas b Bul JI Ladd (y)
........................... P01 U sluad) W caldl 1 O st (Y)
............................ T8 U1 Gl JI 5 Caddl ()

0 - & -

A - ° - ° =
.............................. O] G sland) 1B 2l 887 O genlil (£)

///////

-3y GéfJ\ CJ\}ST J.iﬁ/' =%
Notice the use of ga.j\ b\}:ﬁ (negative particles) in the
following sentences:

ol el ) 2 G o Gl S B ()

" 2 (0 * -%F % o P w2 [ %%
PR S dpdl JICRNY g IS Sl IR ()
JaE Gl JI sty W G JI L (@)
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Read the following examples: 35N g_j_my‘ W

A 10s il ikt B B VL ()

Sl aal

LA B 0 s 3 J Ay oS el Ll 6 (g

KKV e BPS RN

Olas)y |8 0 g;:i &AL Y

N et i oY)

5 ol G5 oy i 2 1 s S B 0 550 U6 )
NG §E

CEEI i B G B s e e Rl e dn o L1 06 (9

S Bl 817,

-~

5l laloly Y JW ey 3T =1

Add uj to the following verbs and then vocalize them
correctly:

2 o 2 o - o
2 o - - 0 £ s 0 sz 4,0 £ - g - .0 S0, ~ s 0 8 2 fo, -
JJ::J &JSU Rl J@M JLM O 4 pod * prcNS B
- _— - —_ — —_— - —_ . - —_— R —_— * ar
- - -

-
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New words:

(i) o35 SR 85
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POINTS TO REMEMBER

In this lesson, we learn the following:

1) We have learnt the negative particle used with the mddiis \, and that used with the
mudari'is %, e.q.:
Lo ‘)f\ Al Cowy 61 did not study Spanish’.
.cw\.b (“9) JJ&\ ¥ I don't know his telephone number.’

P

Now we learn that the negative particle used with the future tense is u—j This particle is
like d\, and so the mudari' following it is mansdb, e.q.:

AaE Ubb:i-\‘ Jl ;AS@‘I’II go to Riyadh tomorrow.’

T s J'T will not go to Riyadh tomorrow.”
Note that when uﬁ is used the particle of futurity (—w) is omitted.
As with d\ the ndn is omitted from Mub cd}-&-\-’ and dj..a-k_: when H is used with
these forms. The two forms u"“" and d.:a.u remain unchanged e.g.:

oz R

| ma; é Al g\ 5,@4,. ol 74..0\ L O Aminah, will you not go to Taif

dur|ng the summer holldays7’

J_ad\ eL_aJS Ge ASJ.J\ ZGJJ\ J_.,’).\_, J‘ ’u\y\ U 'O sisters, will you not study

Turkish next year?’
2) 1 }a-*-\ u,:u\ uJ ‘I will never drink wine.’
The word \M is used to emphasise a negative verb in the future.
Here are some more examples:

2l ‘\J\ LT "} T will never write to him.”

-
%/ /)‘oﬂ ../a/

‘-G*“)-" uj \.\:- ul-d u\ ‘Your language is very difficult. T will never study

it.
To emphasise a negative verb in the past, L3 is used, e.qg.:

L8 457 b I never saw him’.
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year e
wine oy ks
present ;JW
tired (2 ylan t) iy
silk ( 3}& ) Z.S :\”?
the hereafter \,;:U\
- beginning M
never 5ok
(a-u) to leave, to neglecf i
to perform the ‘Umrah e

(i-a) to wear
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sorry

summer

embassy

bank

Indian

the world

future

one, anybody
‘Umrah (minor hajj)

(a-i) to have patience



